

06/12/2025

Page 1 of 1

Vendor Ranking

Letting: 04250612 June 12, 2025 10:30 AM **Call Order**: 001 **Contract**: E4Y16-R0

District: District 4 Counties: DIST/ST-WIDE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 45505617201 (*)

Contract Desc: TREASURE COAST SHOULDER REPAIRS/REDRESS

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	T & M LAWN-FENCE SERVICE INC	Responsive	Winning bid	\$295,616.78	100.00%
2	HIGHER GROUND LAND SERVICES, LL	Responsive	Non-Winning Bid	\$303,950.13	102.82%
3	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$316,802.24	107.17%
4	AGRICULTURAL LAND SERVICES, INC.	Responsive	Non-Winning Bid	\$346,031.89	117.05%
5	MIDWESTERN CONSTRUCTION, INC	Responsive	Non-Winning Bid	\$403,336.10	136.44%
6	CATES TRACTOR SERVICE LLC	Responsive	Non-Winning Bid	\$459,830.32	155.55%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

NOTICE TO INTENT TO AWARD WAS POSTED: BEGIN DATE: 07/01/25 BEGIN TIME: 10:30 AM

END DATE: 07/08/25 END TIME: 10:30 AM

NOTE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$400,000.00 and not the contractor's bid total.





Tabulation of Bids

Letting: 04250612 June 12, 2025 **Call Order:** 001 **Contract:** E4Y16-R0

District: District 4 Counties: DIST/ST-WIDE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS Project(s): 45505617201 (*)

Contract Descr: TREASURE COAST SHOULDER REPAIRS/REDRESS

The work under this Contract consists of Repair Non-Paved shoulders/slopes along State

Roadway in St. Lucie, Martin, and Indian River Counties.

The summary of pay items for this project is listed in the Bid Price Proposal.

•ADVERTISED ESTIMATE: The award amount and contract performance bond shall be based on the Department s advertised estimate amount of \$400,000.00 and not the contractor s bid total.

•PERFORMANCE BOND: A Contract / Performance bond is required for this project.

•BUSINESS DEVELOPMENT INITIATIVE -- Bidders must be a Small Business as defined by FDOT. Small business size standards can be found at https://www.fdot.gov/equalopportunity/bdi.shtm

For more information about bidding on BDI projects, please see the training guide located at https://www.fdot.gov/equalopportunity/bdi.shtm

Bidders must complete and submit the Small Business Affidavit (Form No. 275-000-01) for approval prior to receipt of bid documents. The form may be accessed at https://www.fdot.gov/equalopportunity/bdi.shtm

It is only necessary to submit the Small Business Affidavit (SBA) form once per year.

Send a completed and notarized affidavit as an attachment to SmallBusiness@dot.state.fl.us

Bidders must submit the BDI Reference Sheet (Form No. 275-000-02) with the bid unless bidder is prequalified in the project s major work type, per Rule 14-22, Florida Administrative Code.

Upload the completed BDI Reference Sheet (Form No. 275-000-02) as a zip file using the File Attachment Upload folder in the AASHTOWARE Project Bids application.

BDI Reference Sheet may be found at https://www.fdot.gov/equalopportunity/bdi.shtm

•REQUIRED SUBMITTAL WITH BID:

Proposal Guaranty of \$500 is required for bids over \$150,000 and may be in the form of a Certified or Cashier's Check, the BDI Bid or Proposal Bond (Form No. 375-020-16), or the standard Bid or Proposal Bond form, Form No. 375-020-09).

•GENERAL LIABILITY:

The limits of coverage shall not be less than \$1,000,000 for each occurrence and not less than a \$5,000,000 annual general aggregate, inclusive of amounts provided by an umbrella or excess policy. The limits of coverage described herein shall apply fully to the work or operations performed under the Contract and may not be shared with or diminished by claims

Page 1 of 6



Page 2 of 6

Florida Department of Transportation



Tabulation of Bids

Letting: 04250612 June 12, 2025 Call Order: 001 Contract: E4Y16-R0

unrelated to the contract. The policy/ies and coverage described herein may be subject to a deductible.

	No / Item ID Description	Alternate	Quantity Units	(1) T & M LA SERVIO		(2) HIGHER GF SERVIC		CONSULTIN	ANAGEMENT & G OF FLORIDA
	licates item is bid as	Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LC Ext Amount
	SECTION: 000	01 (SODDING (SY						
0005 SEED &	E570 2 MULCH		14,600.000 SY	0.50000	7,300.00	0.09000	1,314.00	1.07000	15,622.00
0010 WATER	E570 9 1 FOR GRASS & PI	_ANTS	61.500 MG	0.01000	0.62	65.00000	3,997.50	0.01000	0.62
0015 SODDIN	E575 1 NG		32,840.345 SY	3.50000	114,941.21	5.00000	164,201.73	3.49000	114,612.80
0020 SODDIN	E575 1 4 IG, ST AUGUSTIN	E	18,250.000 SY	6.50000	118,625.00	3.00000	54,750.00	3.49000	63,692.50
0025 SOIL LA MATERI	E575 2 YER MATERIAL- I IAL	IMPORTED	730.000 CY	20.00000	14,600.00	27.00000	19,710.00	18.00000	13,140.00
0030 SHOULI	E577 70 DER REWORK		11,680.000 SY	1.50000	17,520.00	1.89000	22,075.20	2.39000	27,915.20
0035 REWOR REPAIR	E577 70 1 RKING SHOULDER (S)	RS (SPOT	5,839.500 SY	1.00000	5,839.50	1.00000	5,839.50	0.01000	58.40
0040 REWOR	E577 70 2 RKING UTILITY ST	RIPS	5,840.000 SY	1.00000	5,840.00	2.99000	17,461.60	11.00000	64,240.00



06/12/2025

Tabulation of Bids

Page 3 of 6

Letting:	04250612	June 12, 202	5 Ca	II Order: 001		Contract:	E4Y16-R0	
Line No / Item ID Alternate Quantity Item Description Units		\ \ \ /	(1) T & M LAWN-FENCE SERVICE INC		(2) HIGHER GROUND LAND SERVICES, LL		(3) ROGAR MANAGEMENT & CONSULTING OF FLORIDA	
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	LC Ext Amount	
SEC	TION: 0001	(SODDING (S	SY					
0045 E577 BLADING PAV BEYOND PAV	'ED SHOULDER, U	36,501.500 JP TO 24" LF		10,950.45	0.40000	14,600.60	0.48000	17,520.72
0001 SODDING (SY) Section Totals:			I	\$295,616.78		\$303,950.13		\$316,802.24
	Contrac	t Grand Totals:		\$295,616.78		\$303,950.13		316,802.24



Page 4 of 6

Florida Department of Transportation



Tabulation of Bids

Letting: 0425	50612 June 12, 2025	Ca Ca	II Order: 001		Contract:	E4Y16-R0	
Line No / Item ID Item Description	Alternate Quantity Units	(4) AGRICULT SERVIC		(5) MIDW CONSTRUC			ACTOR SERVICE
() indicates item is bid as		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 00	001 (SODDING (S	Y					
0005 E570 2 SEED & MULCH	14,600.000 SY	0.95000	13,870.00	1.00000	14,600.00	0.90000	13,140.00
0010 E570 9 1 WATER FOR GRASS & F	61.500 PLANTS MG	60.00000	3,690.00	125.00000	7,687.50	25.00000	1,537.50
0015 E575 1 SODDING	32,840.345 SY	3.00000	98,521.04	1.00000	32,840.35	6.00000	197,042.07
0020 E575 1 4 SODDING, ST AUGUSTII	18,250.000 NE SY	5.40000	98,550.00	5.00000	91,250.00	7.00000	127,750.00
0025 E575 2 SOIL LAYER MATERIAL- MATERIAL	730.000 - IMPORTED CY	30.00000	21,900.00	50.00000	36,500.00	35.00000	25,550.00
0030 E577 70 SHOULDER REWORK	11,680.000 SY	2.50000	29,200.00	6.50000	75,920.00	0.98000	11,446.40
0035 E577 70 1 REWORKING SHOULDE REPAIRS)	5,839.500 ERS (SPOT SY	2.50000	14,598.75	6.50000	37,956.75	6.00000	35,037.00
0040 E577 70 2 REWORKING UTILITY S	5,840.000 TRIPS SY	2.50000	14,600.00	12.00000	70,080.00	2.65000	15,476.00
0045 E577 71 BLADING PAVED SHOULD BEYOND PAVEMENT	36,501.500 LDER, UP TO 24" LF	1.40000	51,102.10	1.00000	36,501.50	0.90000	32,851.35



06/12/2025

Tabulation of Bids

Page 5 of 6

Letting:	04250612	June 12, 202	5 C	all Order: 001		Contract:	E4Y16-R0		
	Line No / Item ID Alternate Item Description			(4) AGRICULTURAL LAND SERVICES, INC.		(5) MIDWESTERN CONSTRUCTION, INC		(6) CATES TRACTOR SERVICE	
() indicates it	tem is bid as Lump S	tum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
	SECTION: 0001 (SODDING (SY 0001 SODDING (SY) Section Totals:			\$346,031.89 \$403,336. ⁻			0 \$459,830.32		
	Contrac	t Grand Totals:		\$346,031.89		\$403,336.10		459,830.32	



06/12/2025

Tabulation of Bids

Page 6 of 6

Letting: 04250612 June 12, 2025 **Call Order:** 001 **Contract:** E4Y16-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.